A [ B C E F [ G [ H
LAMBDA RESTRICTED D CONTENTS DATE ENGR| CHK|[APPD
THIS DOCUMENT AND ANY ASSOCIATED DATA CONTAINS RESTRICTED A
INFORMATION THAT IS LAMBDA'S PROPERTY. INFORMATION CONTAINED ON THIS NEW DRAWING REV. #-1
DOCUMENT IS TO NOT BE DUPLICATED OR DISCLOSED WITHOUT PRIOR B| A REV. #-5 02.AUG.2003
CONSENT AND APPROVAL OF LAMBDA.
clA~A REV. #-8 16.NDV.2003
ANALOG CONTROL D| A 23.DEC.2003

CONNECTOR

OUTPUT CONNECTOR D-TYPE 25 PIN
FRONT 4-H-7.62
INPUT CONNECTOR CPHOENIX> RoNECTOR
FRONT 4-H-7.62 (SEE NOTE
CPHOENIX> RS232/R$485 28.5+0.3

2.SEE NOTE
3 HOLES MARKED ‘A’

477.8+1.0

cuNNEc\TuR SETUP /

===

Ve \R=c=
PO

GROUND
SEMS SCREW M4

IEEE OR ISOLATED ANALDG
OPTION
C(BLANK IN STANDARD UNIT>

4228110
379.0
710 163.5
o
w |l oes |
n—r—— i
o
=i
+H
|
o
o)
|
[ - N L=
SEE NOTE 6.
0| 0
9 &
;
1) 466105
482.8+1.0

NOTES

1, MATING PLUG P/Ni MC1.5/5-G-3.81 PHOENIX.
2, MOUNTING HOLES FOR SLIDES P/N: CC3001-00-S160, GENERAL DEVICES OR EQUIVALENT.
USE 3x#10-32x0.38inch SCREWS FOR EACH SLIDE. ENSURE THAT THE SCREWS DO NOT PENETRATE
MORE THAN 6.0mm INTO THE UNIT.
3. AC INPUT RATING AND SAFETY APPROVAL SYMBOLS ARE SHOWN HERE ACCORDING TO THE SPECIFICATION.
4. STRAIN RELIEF DEVICE P/N: 1576.16.11 AGRO.
S. MODEL NAME AND OUTPUT RATING ARE SHOWN HERE ACCORDING TO THE SPECIFICATIONS.
6. MOUNTING HOLES FOR 19“ RACK, USE M6x16 SCREWS TO FIX THE UNIT TO THE RACK.
7. COMPANY LOGOD IS SHOWN HERE.

s 2 E
A 94 A oo [

57.8

920 92.0

566.8%1.0

595.3%1.0

AC CABLE STRAIN RELIEF
SEE NOTE 4.
SEE NOTE 3. (SHIPPED IN THE PACKAGED.

A\ SEE NOTE 7.

AIR FLOW
DIRECTION %

SEE NOTE S.

/A ACCESSORIES

OUTPUT TERMINALS SHIELD
(SHIPPED IN THE PACKAGE).

A [ B C

[ E E G

ITEM PART NUMBER QTY, PACKING OUTER PACKING NOTE

LINKING CABLE 1A575-81-11_ 1 PLASTIC BAG

DB25 PLUG KIT 749809-3 AMP 1 PLASTIC BAG

STRAIN RELIEF BRACKET 1A575-32-07_ 1

STRAIN RELIEF 15761611 AGRD 1

NONE PLASTIC BAG

STRAIN RELIEF WASHER 8216 AGRD 1

FLAT HEAD SCREW M3x8 2 PLASTIC BAG

BUS BAR COVER 1A575-32-10_ 1 B R INSULATR

BUS BAR COVER INSULATOR | IAS75-33-07_ 1 NONE PLASTIC BAG BUS BAR COVER

SEMS SCREW M3x8 2 PLASTIC BAG
DWG R.George SHEET OF MATERIALS GEN 1U 1500W-HV

1 1 TITLE
ENGR | RGeorge OUTLINE DRAWING
CHK SCALE INONE DRAWING
IA S575-02-02—
APPD UNITS | mm FINISH No. IE
1R | RD MGLE
ISSUED T | LN A NEMIC—-LAMBDA
[ H




